B4 : FAEZHHE
HIER: FER294£8ATH

= BB REd

Tm 50cm Ocm
1 REWLHEEKO 0.088 0.086 0.110
2 REWLHEEKO 0.074 0.102 0.118
3 w15 0.078 0.080 0.082
4 KEMRAKET 0.070 0.086 0.096
5 RELEMDRE 0.070 0.074 0.076
6 BE=E 0.068 0.078 0.120
7 SATLGE) 0.090 0.076 0.074
8 DIFY#E-FHEDOM (Z) 0.080 0.076 0.078
9 ITARYEDOHAOT 0.096 0.092 0.098
10 [—Y—0DL 0.074 0.082 0.082
11 |[T—=LEDYUT IO 0.076 0.080 0.090
12 |48 0.070 0.076 0.074
13 |59k 0.082 0.076 0.080
14 |59k 0.084 0.084 0.086

maiE 0.096 0.102 0.120

=IEfE 0.068 0.074 0.074

FHiE 0.079 0.082 0.090




